- (3000) - (3100) - (3120) -(3121) - (120) [ 1¢ )
3120 [ 150,000] 235,000] [ 800,000]
7,824,159 6,933,059 891,100 | [ 10,000]
3121
4,993,395 3,961,395 1,032,000 | [ 200,000] 800,000]
100
116,252 114,252 2,000
120
69,925 67,925 2,000
202
11,200 9,200 2,000
11,200 9,200 2,000 01
o - 2,000
200 200,000 800,000
4,877,143 3,847,143 1,030,000 | [ -000] -000]
210 200,000 800,000
4,677,143 3,677,143 1,000,000 | [ -000] -000]
401
4,667,143 3,667,143 1,000,000
4,641,451 3,647,751 993,700 | 01
o ( a ) - 993,700
( 198,740)
( 794,960)
25,692 19,392 6,300 |03
= ( a ) = 6,300
( 1,260)
( 5,040)
220
200,000 170,000 30,000




= (3000) - (3100) 1 (3120) :(3121) 1 (220) 1¢(
401
200,000 170,000 30,000
198,650 168,650 30,000 |01
o 50,000 X 600 30,000




- (3000) - (3100) :(3120) :(3122) - (120) 1C - )
3122
963,800 924,700 39,100 [ 10,000]
100
12,840 12,240 600
120
12,840 12,240 600
201
5,940 5,340 600
5,940 5,340 600 | 01
1.
o 600,000 X 1 600
200
950,960 912,460 38,500 | [ 10,000]
210
752,460 722,460 30,000 [ 10,000]
301
656,560 687,500 30,940
656,560 687,500 30,940 | 12
° (
)
(401-01,401-03 )
( ) ( )
656,560,000 - 687,500,000 30,940
( ) 525,248,000 - 550,000,000  ( 24,752)
( ) 131,312,000 - 137,500,000  ( 6,188)
401
30,940 0 30,940
22,950 0 22,950 |01




= (3000) - (3100) 1 (3120) 1(3122) 1 (210) 1 : )
(@]
(301-12
22,950
18,360)
4,590)
7,990 0 7,990 | 03
(@)
(301-12
2,040
1,632)
408)
(@]
(301-12
5,950
4,760)
1,190)
402
30,960 960 30,000
30,960 960 30,000 | 01
o 30,000
20,000)
10,000)
220
198,500 190,000 8,500
402
198,500 190,000 8,500
198,500 190,000 8,500 | 01




= (3000) - (3100) 1 (3120) 1(3122) 1 (220) [ 1¢C

93,500,000 - 85,000,000 = 8,500




- (3000) - (3100) - (3120) -(3123) - (210) 1¢ )
3123
1,866,964 2,046,964 180,000 | [ 150,0001 [ 35,000]
200 150,000 35,000
1,821,204 2,001,204 180,000 | [ 0001 -000]
210 150,000 35,000
1,500,704 1,730,704 230,000 [ 0001 [ -000]
207
70,000 0 70,000
70,000 0 70,000 | 01
o ) - 70,000
( 35,000)
( 35,000 )
402
1,290,000 1,590,000 300,000
1,290,000 1,590,000 300,000 | 01
© ( ) = 300,000
( 150,000)
( 150,000)
220
320,500 270,500 50,000
402
215,000 165,000 50,000
215,000 165,000 50,000 | 01
O
50,000,000 X 2 X 50/100 = 50,000




